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Remember 1o copy the problem and only the

correct answer.

1. Look at the radical.
81726
What is & rewritten form ef the radical?
A 896
B. -90.75
c. -98616
D. -2904

2. Look at the expression.
2184120
Which of these is equivalent to this expressien?
A 228
B. 5

D. 3210

April 8, 2019, Monday - welcome back!!

3. Which sum is rational?

Tc 3755 TS

e 5\*\3«7\1@(

4. Which product is irrational?

A V2150
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1A 2¢c 3B 40D
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Characteristics of Cuadrafics

SAME FOR EVERY QUADRATIC GRAPH:

Zeros: x-intercepts (#,0) Yeintercept: (0, #) Domain: (0, +00)

Average Rate of change: From point A(xi, y1) to point B(xz, y2) is 22

SRS RS ‘
i

west point

Axis of Symmetry: x=—_|_ > x-value of the vertex
sntercot xintercept

Range: [~_7_, +0) Sy-value of the vertex
“ 2z

Extrema: minimum at the vertex

End Behavior:

Asx> o0, () St

~
AT iercopt

Asx>o0, () Dken
Interval of Increase: RIGHT of the graph (_ = | , +0) > x-value of the verlsx( ! _9)

Interval of Decrease: LEFT of the graph (~0, = l ) >x-value of the vertex

For a quadratic th
Vertex: highest point

Axis of Symmetry: x = 2 > x-value of the vertex /

Range: (—o, >y-value of the vertex

Ny .
Extrema’ maximum at the vertex
—_—
End Behavior:

Y J_‘.[

T g 5 g 5
Asx> 40, 1(x) S0 [
Interval of Increase: LEFT of the graph (~o, ;2 > x-value of tWvertex

Interval of Decrease: RIGHT of the graph (. g +o0)>x-value of the vertex
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Algebra 1~ U3C Day 1 Characteristics & Vocab of Quadratic Functions

Fillin each blank using the word bank

vertex minimum axis of symmetry

Transformations of Quadratics - _ _ __  ——

" e—  E— 1. Standard form of a quadratic functionisy =
I - I | 2. The shope of a quadratic equation is called a
. I N7
I.—.— — ___J jr’ y_L._J'/Si
EvE ;
( =z | e
x T

5. When the vertex is the highest point on the graph, we call that o
6. When the vertex is the lowest point on the graph, we call that a
7. Our solutions are the.

8. Solutions to quadratic equations are called

Find the a. vertex, b. axis of symmetry, and c. x-intercepts, and d. y-intercept of each quadratic function

from its graph.
Describe: B 5 10 5 "
1) y=2(x+2)]+2 5) y=-(x-2)+1 — uf
2. Vertex 2. Vertex: 2. Vertex
b Avsofsymmelryix=______ b Asofsymmeyix=___ b Axs of symmetry:x=
. xeintrcepts): — coximercepts) . xeinercepts)
4. yintercept: 4. yintecept 4. yintercept
Graphing Quadratics Using Tables TOTD ~ U3C Day 1 Name. TOTD ~ U3C Day 1 Name
1) Graph £(x) = 2. ’
10 x ()
a E
6
El
‘ TS T ESE AT E E NN N ]
2 0 ”
P SR L
08 6 42 [ 2 46 810
2! 1 »
i . . »
© xintercept(s): x-intercept(s)
8 Transformations; o —_— yintercept
10, e
Vertex Vertex:
peros: Vertex: Asis'of Symaisiey Axis of Symmetry
Y-intercept: Axis of Symmetry:
TOTD ~ U3CDay 1 Name TOTD ~ U3C Day 1 Name
%) Graph /&) i 4
10 PR )
8 2
5
a
4
2 0
o6 642 [ 24680
2 1
i
5 2
x-intercept(s): x-intercept(s):
bl Transformations: p
10 y-intercept: y-intercept
Vertex: Vertex:
Zeros: Vertex
Y-intercept: Axis of Symmetry: LS Axis of Symmetry
Graph Graph:
FO) = 4125 F) = (x-12-5
X [
] El m .
o o April 9, 2019, Tuesday
d -1 8 a
. 4
2 2
0
08 6 4 2 246 810 08 6 4 2 2 46 810 4. Look at the steps used when selving 3(x - 2)
2 4
4| 1 1 3 Ax-2)=3 Write the original equation.
: : How many boues vl I ke tham 0 mow thl Use the Distisutve Property
2 ne
o] o o3 Step 1
ﬁ- 3 Step 2
Step 3
x=3 Stepa
Which step is the result of combining like terms?
_ A Stept
Graph: s B. Step2
€. Step 3
PN D. Stepd
El
o
1
2
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Algebra 1~ U3CDay 2

1. Zeros:
2. Yeintercept:

3. Domain:

4. Vertex:

5. Axis of Symmetry:
6. Range:

7. Extrema:

8. Interval of Increase:
9. Interval of Decrease:
10. End Behavior:
Asx>—00, £(x) >

As x> 400, 6(3) .
1. Zeros:

2. Yintercept:
3. Domain:

4. Vertex:

5. Axis of Symmetry:
6. Range:

7. Extrema:

8. Interval of Increase:
9. Interval of Decrease:
10. End Behavior:
Asx>—00, £(3) .

Asx>400, £(3) >

Characteristics of Quadratics Notes

Characteristics of Quadratics

I

——
Lt

11.AROCF-1, 0]

Describe the transformations.
1 y-x+2

b
2 7.
3 y= G- 8 y= Gy

T y=—G-DAl

G-t -1

I N
-6

ECTeS VS

April 08, 2019

Quadratic Charactristics/Transformations HW Name
L Zeros

2. Vintercept:
3. Domain:

4. Vertex:

TA 3456780910
5. Axis of Symmetry:

6. Range:
7. Extrema:

8. Interval of Increase:

9. Interval of Decrease:
11.AROC 2, 4]

10.End Behavior:

A5 x>0, 109 .

Asx>-+on, 1) >

1. Zeros:
2. Yintercept:

3. Domai

4. Vertex:
5. Axis of Symmetry:
6. Range:

7. Extrema:

8. Interval of Increase:

9. Interval of Decrease:

10.End Behavior: 1LAROC[1,1]

A5 x>—en, 1) .

A5 x> 10, 109 .
Name Name
Quadrauc Cl hamc!el |s||cs ~ TOTD Quadratic Characteristics ~ TOTD

n 2

/‘\

[ A

flx)==2(x -2 +2 == 2P s
Transformations:

Transformations:
Domain

Domain
Range:

Range

intercepis):

imercept()
yrintercept:

yeimercept
Vertex

Vertex:
Axis of Symmetry:

Axis o Symmetry
Inervalof Increase:

Interval of Inerease
Intervl of Decrease:

Interval of Decrease:
Extrema

Ftrema
End Behavior

End Behavior
Asxoe, £l

As x—-0, ()
Asxsan, f{x)

Asxose, flao
AROCfrom (0. )to (2

AROC(2, )00,y

SAMPLE ITEMS

Ax

»

A (5,66)
B. (5-9)

. (-5.-9)
D. (-5.-34)

April 10, 2019, Wednesday

What is the vertex of the graph of f(x) = x* + 10x - 92

1. What are the zeros of the function represented by the quadratic expression 2x” + x - 37

a 54 700 ng x itoms. For which
number(s) of items sold is the company's profit equal to $07

A Olems

B. 35iems

C. 10 items and 60 items

D. 20 iters and 30 items.

STADARD Pﬂlﬂl of QUADRATICS ERTEX FORM of QUADRATICS
y=ax’*+bx+c ly=a(x-—h?*+k

ERTEX SFMMW FORM

___________ EXAMPLE: _y = —20= D=4
[ Step.x. Expand the square binomidl | 9 i 1
1 _ (rewiile Ihe equation)

stzp 2Mulliply the two binomials &
‘combine like ferms [using the ->
BOX, distrioutive, or FOIL method)

al

e | > | n

IEXAMPLE

(s Idenlify a, b, & c. VD

i’ sty 2. find Ihe line of symmelry or '’ by

using x =22,

s, Find he y-value o the vertexor ¢ | 3
by subslituting ' info the equation.

step 4. Wiite: the equation in vertex form
using the *h* and *k’ found above.
The “a will be The ‘a’ found inslep 1
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Algebra 1~ U3C Day 3 Convert VERTEX > STANDARD Form Notes
Examples: Algebra 1 ~ U3C Day 3 Name
Dy=rtie 3 y=2049*-5 9 y=20+ -2 Convert Vertex to Standard Form & Standard to Vertex Form
Convertfrom Vertex form to Standard form for each equation below.
1) £l =(e=3) 2 £l =(x+3)
2 y= G118 Dy= =943
3 Sl 1 4 ) =2l e
5) fld=le=3)+2 0 Sl =(x=2f -1
Converting STANDARD -> VERTEX Form Notes
Examples:
1 y=at+8+10 3) y=2"+101+20
sl =les3r -1 8 Sl =(x=2) 44

1) y= -2 —16x-32
2 y=atreril Dy

10) f(¥)=-20x-3F+4

Convert from Standard form to Vertex form for cach equation belov. Algebra 1 Name 01
seei2 TOTD ~ Converting Quadratic Functions

Convert the given equations from vertex form to standard form.

Doy=l2e 2 =2l 1V 14

15) S0 =¥ +6x47 16) flx) ="~ 8x+ 18

Convert the given equations from standard form to vertex form.

19) fl) ="+ 2x-2 20) flx)=2¢"+ 120420
Study Guide Unit 3¢ Name Study Guide Unit 3¢ Name
5. Converty = x? + 4x +4tovertex | 6. Whatis the vertex and axis of symmetry
form, then the of 2(x-1)7+47
eraph. Find the . vers of symmetry.and ¢ x-ntrcepts, and d y-ntercept of each quadestcfunction
eom s
A4 D=1 B(41jx=1 et 0
C@ayx=4  DAAx=
Eeaanaas = o
b . Avis of symemetry x = __
PRt———
& yircest
Eaonys ]
3 i i El )
w / e =
7. Convert the & Convert th nto
vertex form: y = x? - 8x + 13 standard form: y = -2(x - 4)?- 4 °
T
3
Transformations
Tntereepr o of Symmeny
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SAMPLE ITEM

in hours.

AT
B. 272

c. 1440
D. 20,000

April 11, 2019, Thursday

1. A certain population of bacteria has an average growth rate of 2%. The formula for the growth of
the bacteria's population s A = P, » 1.02', where P, s the original population and ¢ is the time

If you begin with 200 bacteria, about how many bacteria will there be after 100 hours?

2. The points (0, 1), (1, 5), (2, 25), and (3, 125) are on the graph of a function. Which equation
represent

ts that function?

...quiz

Additional Practice It Rubrics and Exemplar Responses

Item 17

Exemplar Response

Points.
oints ‘Sample Response.

Part & The zeros are 2 and 4
anp

To find the zeros, | st the value of the function equal o 0. Then | factored the quadatic
expression on the rignt side of the equation. Next, | used the Zero Product Property o set
ach factor equal 1o 0. Then | salved each of the resulting equations (or x. These values of x
are the zeros of the function. Or other valid explanation.

aNp

Part B: The coeficient of the x' s positive, 5o the function opens up, which means t has &
minimum valu instead of a maximum. Or other valid explenation.

o
The minimum value of the function s 1.

The student correctly answers tree of the four part.

The studen correctly answers one of the four parts.

=
2| The student correctly answers two of the four parts.
1
o

Response s rrelevant, inappropriate, or not provided.

Note: f  student makes an eror in one part that is Garied through o subsequent parts, then th student
is not penalized again for the same error.

Page 254 01 258 T ond Parents
Coppg© 2015 by G Dparent of st A gt s

Name & Partne)
the given graph th)
Graph: Graph
Domain: (=00,00) Domain: (=00,00)
Range: [=2,00) Range:
Vertex: Vertex:
Axis of Symmetry: Axis of Symmetry: X = 2.
Zeros: Zeros:
yeintercept: yintercept: (0,10)
Int of ncrease: (2,00) Int of Increase
Int of Decrease: (=00, 2) Int of Decrease:
Extremas a Extrema: MIN @ (2, 2)
End Behavior: End Behavior:
Asx> 0,109 > Asxd> 0,19 >
AsxD 00,0 > AsxD 00,600 >
Transformations: Transformations:
Down
Graph: Graph
Domain: (=00, 00) Domain: (=0, 60)
Range. Range: (=0,2
Vereex: Vertex:
Ais of Symm
o e Axis of Symmetry: X
Zeros:
yeintercept: (0.0)
yeintercept:
Int of Increase: Intof Incrense
Int of Decrease: It of Decrease.
Extrema; at Extroma: ac
End Behavior: End Behavior:
Asx P 0,109 > -0
Asx> o9, () > —00 Asxd 0,169 > =0
‘Transformations: Asx> o0, () > =00
Transformations:

April 08, 2019

Algebra | Additional Practice tems

Item 17

Extended Constructed-Response.

answer. Write your answer in the space provided.

PartA What are the zeros of the function flx) = x* - 6x + 87 Explain how you determined your

PartB  Explain 1 and not
a of the function. spa
provided.

Part A
Part8

cbra 1EOC o

Page 237 o1 258

April 12, 2019, Friday

Constructed-Response

The first four terms of a sequence are shown.

16, 48, 144, 432,

What is the explicit function, f{n), that defines the sequence? Explain how you determined your

‘answer. Write your answer in the space provided.

Ay=-2(x+3)*+2

B.y=2(c-2)?~

2

Ey=@

Fy=2(x-2?%+2
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April 08, 2019

Algebral~U3CDay4  Unit3C Test Review Part 1 Name.
Then, sraph.
L 2@+17-5 P
« Verlex: « Vertex
« At ofsym: -« Aisoisym:
« Doman: - Domain
« Range
- Range o
« Increase: + ncreass:
+ Dscrease:  Decracse
- vt -« vant
d Benavior: + Eng Bonovor
Aaxd oo 003, Aexd e 1),
Ao b 103,

Asxdren Y

3 y=-Gt2¢-5

4 y=36-412

Write the quadratic equation of the graph that has been.
5. shifted down 1 6. reflected over the x-
Change the cquations to standard form.

7oy 2(-17+4 B y-(r+a¢—6

Change the equations o vertex form.
9.y - xt+6x

0y -+ BT 1

X4 10x- 97

1L
quadraticy = 2(x— 3)* + 47

9 @ Hx=3

b) G ix=t

9 @ix=3

& (4,3x=1

12, Identify

2 (5.66)

13, Which function s shown in the graph?

14.Tell whether the graph of the quadratic
function y = ~2x% — 5x + 15 opens up or
down, and why.

2) Because a< 0, the parabola opens
down.

b) Because 2< 0, the parabola opens up.

© Because 2> 0, the parabola opens
down.

d) Because a > 0, the parabola opens up.
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